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1.How many triangles are there
following figure?

ﬁﬁawﬁﬁﬁﬁrrﬁaﬁwmﬁ%? (¢

A) 32
C) 40

B) 37
D) 20



Q.2 Four of the following five are alike in a certain way
based upon the order in which these appear in the English
alphabetical series and hence form a group. Which is the
one that does not belong to that group?

7 uig ® 9§ IR v Ffda o8% & I g il quiuman
AT R SMUTRA 7 3R Th IYg §1d 8 HI-91 59 IYE I
& fed g1 87

A) MPQO  B)DGHF
C)RUTV D) VYZX
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Q.3 Which of the answer figure is exactly the

mirror image of the given figure. When the
mirror is placed on the line AB?

T O 9 oI |1 Sqa SMTefd YR STHfd &I
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Q.4 DIRECTIONS: Select the related word/
number/digit from the given alternatives.
e fou T faweul d | JEfia Srsg/3ieri/
AT H1 gfu|

A)EEKR  B)EKER
C)ERKE  D)EERK
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Q.5 Nitin ranks eighteenth Iin a class of 49
students. What is his rank from the last?

fAfae 49 faendfai & 18 a1 U™ UIqd HRaT 8 |
3 A SUDT YU HAT 82/

A)18 B)19
C)31 D)32
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Q.6 DIRECTIONS: Solve the alphanumeric
series given below:

frdar: 2 € 1 orar e Aot i ga

A)K16M  B)K18M
C)K20M D) K22M




Q.7 DIRECTIONS: Which figure from the given
options can replace the question mark?

fresn: fAe fAequl 9 9 919 I snefa w=E g &1

trmmfﬁ?rww»—cﬁ%? )
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Q.8 If Cis denoted as I. | Is denoted as R, R as E,
Eas A, Aas O, 0OasF FasS,SasTand T as C,
then how will ‘FACTORISE’ can be written?

gfe ‘C’ B ‘I’ | SRITYT AT 8 ‘I’ Pl ‘R’ A =TT AT 8
‘R Pl ‘E’ @f, EDHAI AP O O PI PR, P
B ‘S’ W, 'SP ‘T’ I 3R T’ B ‘C’ | =T
‘FACTORISE’ I fpd YR fora@ii»

A) SOICFERTA B) SOICEFRTA
C) SOIFCERTA D) SIOCFERTA

ERARRRERL .




Q.9 In a certain code BEND is written as 5% 7@
and DREAM iIs written as @2%48. How is MADE

written in that code?
afe fo<dt fAfda g &, BEND @I ferRaa g 5%7@ <
DREAM @ forad & @2%48. St e § MADE

A)84@%  B)8@4%
C)85@% D) 84%5
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Q.10 1f 8 x 2 =61, 8 x 5 = 04, then the value
of 8x10="7°
gfd 8 x2 =61, 8 x5=04, dl 8 x 10 = T A

T gI?

A)80 B)O08
C) 8 D) 0




Q.11 Raju Is standing facing north. He goes 30
metres ahead and turns left and goes for 15 metres.
Now he turns right and goes for 50 metres and
finally turns to his right and walks. In which

directionﬁi;ﬁ%gﬁing?w %

IR el gl dg 30 Hex
%%Sﬁ?wwgﬁ?ﬁﬂw HIRSdIe
SIE Y& dT g YT 50 HIeX SITdT 8 T 3 H &I¢ [T
dYTIddT 5 | 3F SHBT g9 fhy femn o1 3iv 82

A) t[qc/East B) 3<¥/North
C) Uf¥#/West D) &f&UT/South
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Q.12 DIRECTIONS: Find the next term Iin the given series
below.

3 Y 9ot o SRTET Ue 3T B
31 MN 97, 37PQ89, 41ST83, 2

A) 43VW79  B) 45VW80
C) 45VW80 D) 44WV82
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Q.13 A paper is folded in a manner as shown in shapes given
and holes in it. What will she look like when opening? Based

on the answers given, tell it.

Gl A /ST w41 fb k|
e e e
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Q.14 Sandhya is born on August 15 and Meena's
birth day on 25th June, if Mina's birthday was on
Wednesday, then when will that day be the
birthday of the same year?

AT BT oH f& 15 3R Bl 9T {1 &1 o+ feq
25 S Bl USdl g, dfe HIHAT BT o+ UAR Bl
YT, I U U FHT BT o+H feT Hd

A) REFAR/ Friday  B) HIFMGR/ Monday
c:) 'FI'HFI?:IT\'/ Tuesday D) :rrﬁaw Saturday
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Q.15 At 2.15 AM, what angle will be made between
the hour clock and the minutes of the clock?

2.15 AM aﬁriﬁaﬂﬂ?ﬂaﬁa%aﬁ?ﬁﬁeaﬁﬁéq’r%ﬁa
T BT T2

A)30°  B)22u°
C)7¥°  D)5°




Q.16 If x means —, + means X, — means + and +
means ~than 13 +18+3-23x17 =7

gfe x BT = = BT 3 x, — BT 3 + AT+ BT 31
+g, d@13+18+3-23x17="7

A)26 B)S8
C)72 D)84




Q.17 How many pairs of letters are there in the
word LONGITUDE, among which are the same
letters as in the English alphabet?

T[eg LONGITUDE ¥ 3eRT & oI fhaq WS %
o e I+ 71 31gR & foraq fos sizisit guire

gId 8?

A)2 B)3
C)4 D)5
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Q.18 In a class of 28 boys, 15 boys, football, 18
boys hockey and 10 boys play both football and
hockey, How many such boys will play neither
football nor hockey?

28 TSHI PI TP H& A 15 TSP Pedld, 18 ASH
g1 AUT 10 S Pedd AR glat gl ’

Uy fhad ds& Eﬁ St 7 dt peara 3R 7 g
Wad g7 p
A) 1o B) 5
D) 15
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Q.19 DIRECTIONS: In the following question,
which answer figure is hidden/embedded in the

uestion figure.
%ﬁ'ﬂ ﬁyﬁr@auaﬁaﬁ#ﬁwmﬁw
3mpfafafeas| Ceo)
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Question Figure:

had

Answer Figures:




Q.20 DIRECTIONS: Arrange the following words
according to the English dictionary.

fAder: siieh Te® I & HR, A9 Weel @
quateud s ( o >
(a)Brook N
(b)Bandit
(c)Boisterous A) (b), (d), (c), (a), (e)
(d) Batfle B) (b). (d), (c), (e). (a)
(e) Bright C) (d), (b), (¢), (a), (e)
D) (d). (b), (c), (e). (a)
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